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GCSE Mathematics
Practice Tests: Set 6

Paper 2F (Calculator)

Time: 1 hour 30 minutes

You should have: Ruler graduated in centimetres and millimetres,
protractor, pair of compasses, pen, HB pencil, eraser, calculator.
Tracing paper may be used.

Instructions

¢ Use black ink or ball-point pen.
+ Fill in the boxes at the top of this page with your name,
centre number and candidate number.
Answer all questions.
Answer the guestions in the spaces provided
— there may be more space than you need.
« Calculators may be used.
Diagrams are NOT accurately drawn, unless otherwise indicated.
s You must show all your working out.

Information

» The total mark for this paper is 80
» The marks for each question are shown in brackets
— use this as a guide as fo how much time fo spend on each question.

Advice
* Read each question carefully before you start to answer it.
¢ Keep an eye on the time.
» Tryto answer every question.
» Check your answers if you have time at the end.
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Answer ALL questions.
Werite your answers in the spaces provided.
You must write down all the stages in your working.

CONerony TFOP

Write 0.5 as a fraction.
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(Total 1 mark)

Write % as a decimal. W
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(Total 1 mark)

Write 40 out of 50 as a fraction.
Give your fraction in its simplest form.
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o

Swiply: (310) | = & e,

(Total 2 marks)
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(Total 2 marks)
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You can use this conversion graph to change between pounds (£) and euros.

F 3

100 |
90

20 A

Curos

0 16 20 30 40 50 60 70 8O
pounds (£)

Change 150 euros into pounds (£).
Ner maoswee for £1SO buk P €75 enok K2

CR E£SD enehX> €. ..

(_?C?;) £SO = 2{:1‘2—_@.— B e resd l@e ...............................

SerEe— (Total 2 marks)
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6.  Some drivers are asked which make of car they like best.

The pie chart and table show some information about their answers.

Cazda

MDW

Complete the table.

NMonda

Zusuki

Make of car Number of drivers Angle of sector
MDW 18 45°
| x2 \ w72
Cazda 36 90°
o
Zusuki 48 120
Monda U2, 105°

(1)

18 flequany =4S
| freqrony=2-57

f“'\o

(Total 4 marks)
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78 Jane wants to buy some compost.

Besr Busy

Both Suttons Shop and Greens Garden Shop sell compost.

Suttons Shop
Bags of compost
20 litres

£2.25 each bag
£3.25 for 2 bags

Jane needs 140 litres of compost.

L___‘__"_'___A_’___,__A

Greens Garden Shop
Bags of compost
70 litres

£4.,99 each bag

She wants to buy all the compost from the same shop.
She wants to buy the compost as cheaply as possible.

Which shop should Jane buy the compost from?

You must show all your working.

SU\"\"\'!D'\S

lwot=20L="* -'-'?'ﬂtj*”""’d
=% T btﬂs
+ | | « ‘ooﬁ

= Rx£325)H(1Xf22s)
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Coreans
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2x ki = A48

osf.
(Total 4 marks)
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8.  David drives to the supermarket on his way home from work.

The table shows some information about his journey.

Time
Leaves work 1730
Gets to supermarket 1745 415 = 18606
Leaves supermarket 1810 | P{_-i_‘f___ = 8O
LS roens

(@) How many minutes is David at the supermarket?

.............................................. minutes

(1)

David leaves the supermarket at 1810.

He drives 20 miles to his home. . N <trence. \ LJ/L.Q.
The speed limit for the journey is 30 mph. = ( FD‘

David drives within the speed limit. < = ZOMPW /é%\
¥ |

(b) Can David get home before 19007 D= 20 m oS ——
Give reasons for your answer.

= ik — I
1= 2 T 2D~ S
S W
: PN
D=20m 0§ )
e B = %\'\OLJ = 4O mwtes
le:\;‘:ak 1220 lg"\’o’f"bgom\mi‘es - \8:50
Cenclns ien Yes Towrd canger howe Laflore 19100 .
a 3)
(Total 4 marks)
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9. a=4b

(a) Work out the value of @ when b = 3.

o=t (=)
% Ve '
- L
1)
P=4d-3
(b) Work out the value of P when d = 2.
P=uw()-2
P=%-% P S
@)
= 5
e (Total 3 marks)
10. Here are the first five terms of a number sequence. LLMLLU" SQQ/U-Q“ e

17 2125 29 33 23 U\

| SR B TR e
(a) Write down the next two terms of the sequence.
....... =% M
’ @)
(b) Explain how you found your terms.
........ Added Mk eeln AW
1)
(¢) Work out the 12th term of the sequence.
Terwm. it A e ' Lz
Ly S Loy S5 S Sd
_—D — —> Fa 1?
+ -t S e
5
(d) Explain why 70 is not a term of this sequence.
Recasse keep a W B\tr=€s 57w b9
6+t =93. T ¥ Msscol. M

(Total 5 marks)
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11.  Julie buys 19 identical calculators.
The total cost is £143.64

Work out the total cost of 31 of these calculators.

(=)

(x2\)

%—4_56 = | coladarelf

42226 = | catarlalers

(Total 3 marks)

Practice test paper 2F (Set 6): Version 1.0 8



mcm:u._z) Fmblms

12.  When you buy something from Quickmart you get points.

Smart Phone

£419

get 838 points

DVDs Lawnmower

. Basic £57
=800 wgch Electric  £81

get 16 points get 12 points
for each DVD vyou buy for every £3 vou spend

Chantal buys a Smart Phone, 4 DVDs and a basic lawnmower from Quickmart.

(a) Work out how many points she gets.

Svort Prenc

Dvios

Lawnmewersr

“Totra) Pants

LR p@n"ﬁi ‘
64 = B poris

LB EN 228 = o AR i poin?‘:;.
(

You can get money off the cost of your shopping at Quickmart.

Get £2.40 off the cost of your shopping for every 500 points

Louis has 4500 points.

He wants to get a DVD player costing £22
He wants to use his points to get the DVD player.

(b) Does Louis have enough points to get the DVD player?

Discaundt v n Pnu\ﬁ-s

CC!\M\'CL/\

USDO: S0 = 9 lots o alscoudt
A%£2-u0 = £21.60

L\_]_g_ ha cloe s ast &YLCQ e \na g -%'Zl.éo worhn of ‘Pom‘l&_

“)
(Total 7 marks)
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13. The table shows some information about the ages of 60 teachers.

Age (a years) Frequency
20<a<30 QB 6
30<a<40 S 16
40<a<50 WS 14
50<a<60 <SS 22
60<a<70 (S 2

(@) Write down the modal class interval.

Hegnant Praqrancoy SO La L EO

(b) Draw a frequency polygon for the information in the table.

Frequency

% t'dbpuw\;”i'_'(
30+

20

10 4

40 30 60 70
Age (a years)

(2)
(Total 3 marks)
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@

14, Sal ask adults if they liked Chinese food best or Italian food best or Thai food best.

o the adults were women.
‘o’? f the women liked Thai food best.
iﬂc themen liked Chinese food best.
Qf the @ dults who liked Italian food best were women.

W01k out the number of men who liked Thai_ food best.

Chirate | “Thmlron | “Tiess

otal

Male |@ =10

® =3

®
Temale @=< |®=
&

@ = 60

(Total 4 marks)

Practice test paper 2F (Set 6): Version 1.0 11



DI Mals

Aveciof 20 Shop=S

15. The diagram shows a path around a pond.

AN i
3 iﬂ path Diagram NOT
accurately drawn
V4 = b
|Om €3 P pond 4 T
«—7m—F
v
< >
The pond is in the shape of a rectangle with length 7 m and width 4 m.
The path is 3 m wide.
Ali is going to cover the path with gravel.
One bag of gravel will cover 10 m? of the path.
How many bags of gravel does Ali need to buy?
You must show your working.
z
Amcf—? Fone) T lbem =28 m
i
M@G{L P onel Pandl [ R 2 . = 06N

(Bigecingle) )
-3
reon ootz Tora\-Qreafond | Frees Catte = |TOM"— 28 = OLMm

%S o} Gvavel: o2mE = M= 0.2 hegs upcywe«\
CCAOQMQ‘[CV\‘ . He ngede l\bﬂﬂg ......................................... bags

(Total 4 marks)

—
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16.

likely impossible certain cvens unlikely

(a) Use a word from the box which best describes the probability of each of the
following events.

(i) When you throw an ordinary coin you get a tail.
\~

boudef 2 =2, Evens .

(ii)) When you throw an ordinary dice you get a number less than 7.

Most hepen! (extown .

Bill has some counters in a bag.

3 of the counters are red.
7 of the counters are blue.
The rest of the counters are yellow. ——5 > Be)u\,nm c_eunhess

Bill takes at random a counter from the bag.

s ;. 2
The probability that he tak 11 teris —. Ve
he probability that he takes a yellow counter is - P wA

(b) How many yellow counters are in the bag before Bill takes a counter?

Tota\ CeanterS BEF o = 1O
“ouT oF |+ 5 Mmust lbe e MMMJT% Snce Has
AQ_AWWO-P MP—\FC)O&\‘”\J‘*::)"’—F UU'LDW =%

STy IR =\ =y,

Yeuow = '?'C; 'LfC—'?_?_  Cowreth - kRUow Countess

OO,

(Total 4 marks)
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17.

Here are 6 triangles drawn on a grid of centimetre squares.

Cengfuonty o LDSheped

(b) Write down the letter of an isosceles triangle.

(c) Find the area of triangle E.

Ares = bxh | A =

T

(1)
(Total 3 marks)
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18. A small photograph has a length of 6 cm and a width of 5 cm.
The small photograph is enlarged to make a large photograph.

The large photograph has a length of 21 cm.

5cm

6 cm

Small photograph 21 ém

et B Large photograph
——

The two photographs are similar rectangles.

Work out the perimeter of the large photograph.

gco"\e‘{'\c“"*‘f Db 2 e = B E
wmi.i:ff\(lc-fﬁe) Sﬂ,}qg . = = P S
:I'*""‘:’“ D = Dleact Zlewn H1F- Sem T Cem
aen P = Wlcm + =S cnn
P= %

(Total 3 marks)
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19. Ann has some cards.

Beth has 4 cards more than Ann.
Cath has three times as many cards as Beth.
The total number of cards is 51

How many cards does each of the three people have?
You must show all your working.

A =S¢ Tetal= Annt B etin T CoMn

8%:21—

Cwl—l«:_:s(x:t) Sl = o el t——'_s(;c-\-q)
BP(FC‘V\Q\ Sl = oC + A R
Cerllo ok S1 = Sx+(b

(-6) RS =S¢

Sl = x

Ann =x X =3 - n=
%w\:x-\-ﬂr -+ = |\ -—'-@Q{_h:—.[\
Codtn =3(uw) 2w =32 . Catt~ =33

(Total 5 marks)
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Here are four containers.

Water is poured into each container at a constant rate. , .
Q’b\]m&i‘é’w

5 N amiaclto —

A g m‘r’\f midcUle = & .

o AN (ﬁ_}) £ i

3 > g L

"~ g 1, — V i

<I ] b ;‘ H I

. : / | )
';_____f.' . l.ﬂ___ B ____,5 '\\‘__'_ -
I 2 3 4
constent
Here are four graphs, =3

The graphs show how the depth of the water in each container changes with time.

4 P
| A K o B g
] '-'.. P
Depih ol \ i Depth of P
witer | / water P
‘ y r
.)‘ — = 1 9 = — L
t [ime % Fime
A &
- . D =
| /
Depihoof | Depth af P
water | e water f/’
}i“ 1 ) l— -
L lime & [1me
Match each graph with the correct container.
5
Aand oo
Band ... 2-- ...............
L
Cand........ f, ...............
Dand........ , ................

(Total 2 marks)
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21. A factory makes metal bottle tops.

‘When a bottle top is too big or too small it does not fit the bottle.

veons (-
The probability that a bottle top is tog'g is 0.008
The probability that a bottle top is too small is 0.015

A bottle top is taken at random.

Work out the probability that the bottle top does fit the bottle.
\ x
P ( doesnt -F-l\':) e P(Too oven) +P (TOO small)

o.oo + oolX

1

= M.02%
?(F\'):\—PU\\ o 3 'P(ckoe.s ~F(-I—) = |—0O0-07T)

—_—

(Total 2 marks)
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4. The diagram shows the positions of three turbines 4, £ and C

/ Dingram NOT

accurately dravwn

6 lan
Y

M
C 4.5 km B

A 18 6 km due north of turbine 5.
(15 4.5 km due west of turbine 5.

(a) Calculate the distance AC.

; - T Z
'j'f'bf\w))cfh 3 b =
{

LY

s =2 SE.2 20

=

v ANS

(3
(b) Calculate the bearing of C from A.
Give your answer correct to the nearest degree.

? a . T ‘/./

EQGJM\J < A8 ¥ @'O B SCH CAHATOM

s ban @ = 2

o A
¢ e

§

1!

ur;.%' 6 o

@ R
, @ = 26.T6T .. =AM
@SL\:?% -i-uﬂfg

c

~

..................................... I.. f,,“ °
o [ ‘
\ 0%+ & Fgec:mm — €O ¥ ANJS =
Eg.@m;x;r'\,a‘ ~ |80 0 ,\ i

€Y

= NV E (V\Q.wa cﬁﬁ@/%) (Total 7 marks)
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23. A rugby team played six games.
The mean score for the six games is 14.5

The rugby team played one more game.
The mean score for all seven games is 16

Work out the number of points the team scored in the seventh game.

W\Qcmo;fiswﬂw ST+X _ 16
:ﬁ:fﬂu.\ia C'ZLB) -

() SF+L = 112
-%7) *x = 28

.......................... points

(Total 2 marks)
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24. ABCDE and PORST are regular pentagons.

Diagram NOT
accurately drawn

SR is parallel to DC
AP=BQ=CR=DS=ET

Work out the size of angle SRC.
You must show all your working.

o= 168° lnjerier onglen oA pohugon = L)% & =Sy = R
[ok SCC =(cep =2

o © o ¢ =3 3
LA4E +(0g" = 3O ﬁ\gkﬂbm “90“\*7 <O

V. +8° = 360 C oo ot

2% =25 S
. [ =2
Y Y 26 .

(Total 3 marks)

TOTAL FOR PAPER IS 80 MARKS
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